

	K
	Mean LnP(D)
	SD LnP(D)
	∆K

	1
	-22013.1
	0.555878
	NA

	2
	-19812.4
	131.081
	6.543053

	3
	-18469.2
	325.2155
	1.31482

	4
	-17553.7
	128.9415
	0.229251

	5
	-16608.7
	130.2262
	3.075878

	6
	-16064.2
	75.74812
	0.278291

	7
	-15540.7
	114.4082
	0.945124

	8
	-15125.4
	0.584618
	1741.891

	9
	-15728.5
	315.4953
	0.793895

	10
	-16081.0
	785.5523
	0.328113

	11
	-16691.4
	995.1
	1.089247

	12
	-16217.8
	449.791
	2.056355

	13
	-16669.1
	844.5295
	0.350562

	14
	-16824.4
	827.0747
	0.693081

	15
	-16406.4
	550.8407
	1.219772

	16
	-16660.4
	429.0257
	NA
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